BXE25 (87 5£HE1%)

RTHFERVEEEES

ATt XL 1ErT
Bs XEaH
REERB-K4A

S5 EE 4B 58 68 18 8AH 98 108 118 128 1A 28 38
PN Ty =
“*nxﬁg%ﬂgiﬁ (F/0) %1 136.4 139.9 138.3 136.4 135.6 135.0 135.5 135.2 135.3 137.7 137.5 132.8
— — —
ﬂ$u5£ﬁg%ﬂ$éﬁ (FEJ/Q) (%%2) 151.3 151. 3 152.1 155.1 163. 3 165. 3 159. 2 157.5 158.0 158. 2 158.0 158. 1
%*4%131%35_(?/” 14.9 11.4 13.8 18.7 27.17 30.3 23.7 22.3 22. 17 20.5 20.5 25.3
HEADHBXMREMDIENFEIAE (B)
D
%ﬂﬁ%zém (X3) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
BOHERE () %A 0 0 0 0 0 0 0 0 0 0 0 0
F=Cx*E T~
AR
WELnE () %A 0 0 0 0 0 0 0 0 0 0 0 0
G=Fx*x 172 st

X1 SMTEEORBORERRA YV U EHE(
X2 R[HUSEEOABORERARRA Y VT HI

ORABRAVY VEEME T, BRIRIILFT—TAERT SEBF/NEEBRERRICEDE. BRXROLTa15—HV ) ViEBOLZBFO

REGERETHLLMERET 5,

X3 MEERE ) =AVYIUBTEHFERE14. 2 Q7H) x D) BEAOHBXEEROENIZEBHK




